
Sz(8) (mod 13)

blocks defect matrix

G : 1 1 7× 4
2 0 651 = χ8, ϕ5

3 0 652 = χ9, ϕ6

4 0 653 = χ10, ϕ7

5 0 911 = χ11, ϕ8

2.G : 6 1 7× 4
7 0 1041 = χ19, ϕ13

Block 1: ϕ1 ϕ2 ϕ3 ϕ4

11 = χ1 1 . . .
141 = χ2 . 1 . .
142 = χ3 . . 1 .
351 = χ4 . . . 1
352 = χ5 . . . 1
353 = χ6 . . . 1
641 = χ7 1 1 1 1

ϕ1 = 11
ϕ2 = 141
ϕ3 = 142
ϕ4 = 351

Block 6: ϕ9 ϕ10 ϕ11 ϕ12

401 = χ12 . . 1 .
402 = χ13 . . . 1
403 = χ14 1 1 . .
561 = χ15 1 . 1 .
562 = χ16 1 . 1 .
563 = χ17 1 . 1 .
642 = χ18 . 1 . 1

ϕ9 = 161
ϕ10 = 241
ϕ11 = 401
ϕ12 = 402


